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Each student has their own interest Rate as shown in the table below (Tablel):

No. Student ID Student Name Interest rate i %
1 201902807 Soball Glalu Jila sl 1
2 201805128 ol Slaaall aia Jw Ol 2
3 201702405 @il ol QlaS ol 3
4 201902768 | seall daiall ilas 2eal Jla 4
5 201902830 | olall Siyl e 2gd Alls 5
6 201804434 3)6.-45\ 2l pate Glala 6
7 201903292 | il cheaall Gale Cidi 5 jla 7
8 201903343 el daall yle ol e 8
9 201902835 | il skl i ae 2Ol e 9
10 201902653 el gl ne jlas al¥lae 10
11 201805023 | (sl (oalisall (lren duasa o allae 11
12 201903242 | i) kel GlA 53¢ iallne 12
13 201902721 sl Shaadll dlve (lias ) dilae 13
14 201902725 | eilall aadll ale Y e 14
15 201806221 | syl Slumdl mle oy pase 15
16 201805691 | oheall rli la e lle 16
17 201902840 el ae yhaa agd 17
18 201808284 | ksl oS sSH jeali plan 2ala 18
19 201902778 | 2seall jpallue 3ses dess 19
20 201804597 el Fla vle dasa 20
21 201804965 caaYl s dlae daas 21
22 201902648 | omdll sl il osle dena 27
23 201804433 | sl Sl audi)) 3 jallae Cals 23
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QUESTION 1: (CLO1) (10 Marks)

Jamie has become more conscientious about paying off his credit card bill promptly to reduce
the amount of interest paid. He was surprised to learn that he paid 600 SR in interest in 2006
and the amounts shown in table 1 over the previous several years. If he made his payments to
avoid interest charges, he would have these funds plus earned interest available in the future.
What is the equivalent amount 5 years from now that Jamie could have available had he not

paid the interest penalties? Let i = ...% per year (see the tablel).

Table 1: Credit card interest paid over the last 6 years.

Year 2002 2003 2004 2005 2006

Interest paid SR 500 300 400 600

Draw the cash flow diagram
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QUESTION 2 (10 Marks)

The Highway Department expects the cost of maintenance for a piece of heavy construction
equipment to be $6000 in year 1, to be $6400 in year 2, and to increase annually by $400
through year 7. At an interest rate of ...% per year (see the tablel)., determine the present

worth of 7 years of maintenance costs. Draw the cash flow diagram.
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QUESTION #2 (CLO2): (10 Marks)

A project engineer with EnvCare is assigned to start up a new office in a city where a contract
has been finalized to collect and analyze ozone-level readings. Two lease options are available,
each with a first cost, annual lease cost, and deposit-return estimates shown below. The MARR

is ...% per year (see the tablel).

Location #1 | Location #2
First cost, SR -15000 -15000
Annual operating cost (AOC), SR/year -3500 -3900
Salvage value, SR 1000 1500
Life, years 7 5

a) Determine which lease option should be selected based on the annual worth. (Draw the cash

flow diagram for the two life alternatives)
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[ocation (1) Shsuld b e Selec bed

b) What is a selected location? (ec 4k lonc) 1S the Selected loca kloy

¢) Why?
be (AUSe £he cost 0S5 location(1) 15 1€55 Lhay

the (oSt oS +the location (2) /
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QUESTION #2 (CLO2):

d) Calculate the Future Worth for location #1

YW= -78158.92 (4. 227 . 2) - -7919 92(13-7394)

= - (6 7429.8% 5R
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